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ÍÛæ̃ Û¶ÛÛ : ¸ÛóÊ¶Û¶ÛÛé ¶Û×¼ÛÁõ ¸ÛóÊ¶Û¸ÛªÛ ¸Ûó¾ÛÛ¨Ûé ›÷ ÅÛ”ÛÈÛÛé.  
 

1. …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ ¾ÛÛ¸Ûþ×ù¦øÛé ÍÛÜÈÛÍ©ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé.  14 

     …¬ÛÈÛÛ  
 ÍÛ¾Û›ÛÈÛÛé ƒ 
 (a) ÈÛÍ©Ûà …¶Ûé …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 
 (b) ¾ÛÛ¶ÛÈÛ ÍÛ×ÍÛÛµÛ¶Û ÜÈÛïõÛÍÛ  
 

2. ¾ÛÛîÍÛÙ¶ÛÛé …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛÜÈÛÍ©ÛÛÁõ ˜Û˜ÛÛë.  14 
     …¬ÛÈÛÛ  
 ÍÛ¾Û›ÛÈÛÛé ƒ 
 (a) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ ÜÈÛÌÛé ÜÁõïõÛ¦øÛë¶ÛÛ ÜÈÛ˜ÛÛÁõÛé  
 (b) ÉÛä¾¸Ûà¤øÁõ ¸Ûó¾ÛÛ¨Ûé ÉÛÛ”Û¶ÛÛé …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¾ÛÛ× ºõÛÇÛé  
 
3. ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. ½ÛÛÁõ©Û¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¾ÛÛ× ©Ûé¶Ûà ¸ÛóÛÍÛ×Ü•Ûïõ©ÛÛ¶Ûä× ¸ÛÁõà“Û¨Û ïõÁõÛé. 14 
     …¬ÛÈÛÛ  
 ÍÛ¾Û›ÛÈÛÛé ƒ 
 (a) …ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ¶ÛÛé ”ýÛÛÅÛ  
 (b) …Û¬ÛÙÁõ ÅÛéÈÛàÍÛ ¸Ûó¾ÛÛ¨Ûé …ÛÜ¬ÛÙïõ ÜÈÛÍ©ÛÁõ¨Û¶Ûà ¸ÛóÜ’õýÛÛ  
 
4. …Ûíé²Ûé•ÛàïõÁõ¨Û¶ÛÛé …¬ÛÙ ÉÛä× ™öé ? ÜÈÛïõÍÛ©ÛÛ þéùÉÛÛé¾ÛÛ× …Ûíé²Ûé•ÛàïõÁõ¨Û¶ÛÛé ©ÛïõÛÙµÛÛÁõ ÉÛä× ™öé ?  14 
     …¬ÛÈÛÛ  
 ÍÛ¾Û›ÛÈÛÛé ƒ 
 (a) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¾ÛÛ× ”Ûé©Ûà¶ÛÛé ºõÛÇÛé 
 (b) ”Ûé©Ûà “ÛéªÛ¾ÛÛ× ¶Ûà˜Ûà Š©¸ÛÛþùïõ©ÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé  
 
5. ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà, ¾ÛÛªÛ ©Ûé¶ÛÛé ¶Û×¼ÛÁõ (a), (b), (c) …¬ÛÈÛÛ (d) ÅÛ”ÛÛé.  14 
  (1) …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûà ¸ÛÜÁõ½ÛÛÌÛÛ …é¤øÅÛé _______ ÍÛ¾ÛÍýÛÛ…Ûé. 
   (a) ÜÈÛïõÜÍÛ©Û þéùÉÛÛé¶Ûà (b) ÅÛÛéïõÉÛÛÐüà þéùÉÛÛé¶Ûà 
   (c) …µÛÙÜÈÛïÜÍÛ©Û þéùÉÛÛé¶Ûà (d) ÍÛ¾ÛÛ›÷ÈÛÛþùà þéùÉÛÛé¶Ûà 
  (2) …¬ÛÙÉÛÛÍªÛà ›÷é¾Û¨Ûé ÜÈÛïõÛÍÛ¾ÛÛ× Ü¶ÛýÛÛé›÷ïõÛé ¸ÛÁõ ½ÛÛÁõ ¾ÛæîýÛÛé ™öé  

   (a) ÐüÌÛÙ¾Ûé¶Û (b) ÁõÛéÍÛé¶ÛÍ¤øà¶Û ÁõÛé¦øÛ¶Û 
   (c) ÉÛä¾¸Ûà¤øÁõ (d) ¶ÛîÍÛÙ 
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  (3) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛé ËÛéÌ¥ø Ü¶ÛþëùÉÛïõ ™öé  

   (a) ÈÛµÛ©Ûà ¼Û˜Û©ÛÛé (b) ÈÛµÛ©Ûä× ¾Ûæ¦øà ÍÛ×̃ ÛýÛ  
   (c) ÈÛµÛ©Ûä ¾Ûæ¦øà-Š©¸ÛÛþù¶Û •Ûä̈ ÛÛé«ÛÁõ  (d) ÿ˜Ûä ›÷©Ûä œ÷ÈÛ¶ÛµÛÛéÁõ¨Û 
  (4) ¾ÛÛ¶ÛÈÛ ¾Ûæ¦øà ÍÛ›÷Ù¶Û¶Ûà ÍÛ¾ÛÍýÛÛ ïõˆ ™öé ? 

   (a) ÈÛÍ©Ûà ÜÈÛÍºõÛé¤ø (b) ¼ÛÛíéÜ±ùïõ µÛÛéÈÛÛ¨Û 
   (c) ¾ÛÛ¶ÛÈÛ ÉÛÜî©Û …ÛýÛÛé›÷¶Û¶ÛÛé …½ÛÛÈÛ  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
  (5) ÜÁõïõÛ¦øÛë¶Ûä× ¸ÛäÍ©Ûïõ “Principles on Political Economy & Taxation” îýÛÛÁéõ ¸ÛóïõÛÜÉÛ©Û ¬ÛýÛä× ? 
  (a) 1717 (b) 1917 (c) 1817 (d) 1921 

  (6) …¬ÛÙÉÛÛÍªÛà ›÷é¾Û¨Ûé ÜÈÛïõÛÍÛ¾ÛÛ× ¶ÛÈÛÍÛ×ÉÛÛéµÛ¶ÛÛé ¸ÛÁõ ½ÛÛÁõ ¾ÛæîýÛÛé ™öé.  

   (a) ÐüÌÛÙ¾Ûé¶Û (b) ¶ÛîÍÛÙ  

   (c) ÁõÛéÍÛé¶ÛÍ¤øà¶Û ÁõÛé¦øÛ¶Û (d) ÉÛä¾¸Ûà¤øÁõ  

 (7) ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà, …µÛÙÜÈÛïõÛÍÛ ¾ÛÛ¤éø ›÷ÈÛÛ¼ÛþùÛÁõ ¾Ûä”ýÛ ïõÛÁõ¨Û ÉÛé¶Ûé 
¥øÁõÛÈÛé ™öé ? 

   (a) ¼Û›ÛÁõ¶Ûä× ¶ÛÛ¶Ûä ïõþù (b) ¼Û˜Û©Û¶Ûà …™ö©Û 
   (c) ¤éøî¶ÛÛéÅÛÛéœ÷¶Ûä× ¶Ûà˜Ûä× Í©ÛÁõ  (d) ÜÈÛþéùÉÛà ¸Ûó½Ûä©ÈÛ  

 (8) ¶ÛîÍÛë ¾Ûæ¦øàÁõÛéïõÛ¨Û¶Ûà ¾ÛÛ×•Û¶Ûà ¼ÛÛ›ä÷¶Ûä× ÜÈÛÌÛ˜Û’õ ©ÛÛé¦øÈÛÛ ¾ÛÛ¤éø, ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶Ûà ½ÛÅÛÛ¾Û¨Û 
ïõÁõà ™öé ? 

   (a) ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ  (b) …ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ  

   (c) ”Ûé©ÛÜÈÛÌÛýÛïõ ÜÈÛïõÛÍÛ  (d) …Ûíé²ÛéÜ•Ûïõ ÜÈÛïõÛÍÛ  

 (9) “¡ö¦ø̧ Ûà …Ûíé²Ûé•ÛàïõÁṏ Û ”ÛÛÍÛ ïõÁõà¶Ûé ¸ÛÛýÛÛ¶ÛÛ …¶Ûé ½ÛÛÁéõ Š²Ûé•ÛÛé¶ÛÛé ÜÈÛïõÛÍÛ ³ùÛÁõÛ” …é …éïõ Ðéü©Ûä Ðü©ÛÛé  

   (a) ¸ÛÐéüÅÛà ¸Û×̃ ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ¶ÛÛé  (b) ¼Ûàœ÷ ¸Û×̃ ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ¶ÛÛé 
   (c) ªÛàœ÷ ¸Û×̃ ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ¶ÛÛé (d) ˜ÛÛé¬Ûà ¸Û×̃ ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ¶ÛÛé  

  (10) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ ÜÉÛÌ¤ø ÜÍÛ±ùÛ×©Û µýÛÛ¶Û¾ÛÛ× ÅÛé ™öé 
   (a) ¶ÛºõÛé ¾Ûæ¦øàÁõÛéïõÛ¨Û¶ÛÛ ¸ÛóéÁõïõ ©ÛÁõàïéõ 
   (b) ÈÛµÛÛÁéõ ¾Ûæ¦øà ÍÛ×̃ ÛýÛ ÍÛÛ¬Ûé ¶ÛºõÛ¶ÛÛ –Û¤øÛ¦øÛ¶ÛÛ ÈÛÅÛ¨Û¶Ûé  
   (c) (a) …¶Ûé (b) ¼Û×¶Ûé 
   (d) Š¸ÛÁõ¶ÛÛ ïõÛé̂ ¸Û¨Û ¶ÛÐüà  

  (11) ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûé ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ïõÛé¶ÛÛ ³ùÛÁõÛ ÍÛ¾Û¬ÛÙ¶Û …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈýÛä× ™öé ? 

   (a) ÁõÛéÍÛé¶ÛÍ¤øà¶Û ÁõÛé¦øÛ¶Û, Áéõ•Û¶ÛÁõ ¶ÛïÙÕõÍÛ …¶Ûé …Û¬ÛÙÁõ ÅÛéÈÛàÍÛ  
   (b) ÁõÛéÍÛé¶ÛÍ¤øà¶Û ÁõÛé¦øÛ¶Û, Áéõ•Û¶ÛÁõ ¶ÛïÙÕõÍÛ …¶Ûé ÐüÌÛÙ¾Ûé¶Û 
   (c) ÁõÛéÍÛé¶ÛÍ¤øà¶Û ÁõÛé¦øÛ¶Û, Áéõ•Û¶ÛÁõ ¶ÛïÙÕõÍÛ …¶Ûé ÁõÛéÍ¤øÛéÈÛ 
   (d) ÁõÛéÍÛé¶ÛÍ¤øà¶Û ÁõÛé¦øÛ¶Û, Áéõ•Û¶ÛÁõ ¶ÛïÙÕõÍÛ …¶Ûé ÍÛá•ÛÁõ  

  (12) “¾ÛÛé¤øÛé µÛ‘õÛé” ÜÍÛ±ùÛ×©Û ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶ÛÛ ¸ÛÁõ ½ÛÛÁõ ¾Ûæïéõ ™öé ? 

   (a) ¾ÛÛé¤äø Ü¶ÛÈÛéÉÛ “ÛéªÛ  (b) ”Ûé©ÛÜÈÛÌÛýÛïõ “ÛéªÛ  

   (c) ¤éøî¶ÛàïõÅÛ “ÛéªÛ  (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüà 
  (13) …ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶ÛÛ ÜÈÛïõÛÍÛ ¸ÛÁõ µýÛÛ¶Û ïéõÜ¶®ù©Û ïõÁéõ ™öé ? 

   (a) ¼ÛµÛÛ “ÛéªÛÛé 
   (b) ˜ÛÛÈÛàÄõ¸Û “ÛéªÛÛé  
   (c) ¼ÛµÛÛ “ÛéªÛÛé ›÷é¾ÛÛ× ˜ÛÛÈÛàÄõ¸Û “ÛéªÛÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ  
   (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüà  

  (14) ”Ûé©Ûà“ÛéªÛ¶Ûä× ¾ÛÐü«ÈÛ, ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ïõˆ ¼ÛÛ¼Û©ÛÛé¶ÛÛ ïõÛÁõ¨Ûé ŠþÕù½ÛÈÛé ™öé ? 

   (a) ”ÛÛ² ¸ÛäÁõÈÛ¥øÛ¶ÛÛ ÍªÛÛé©Û ©ÛÁõàïéõ  
   (b) ÜÈÛþéùÉÛà Ðæ×üÜ¦øýÛÛ¾Û¨Û¶Ûà …ÛÈÛïõ¶ÛÛ ÍªÛÛé©Û ©ÛÁõàïéõ  

   (c) …Ûíé²ÛéÜ•Ûïõ ïõÛ˜ÛÛ ¾ÛÛÅÛ¶ÛÛ ¸ÛäÁõÈÛ¥øÛ ©ÛÁõàïéõ  
   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

_________  
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Instruction : Write the numbers of the question as per the question paper. 

 
1. Explain in detail indicators of economic development. 14 

                OR 
 Explain : 

 (a) Relationship between Population and Economic Development. 

 (b) Human Resource Development 

 
2. Discuss in detail Marxian theory of economic development. 14 

       OR 
 Explain : 

 (a) Ricardo’s views on economic development. 

 (b) Role of credit in economic development according to Schumpeter. 

 
3. Explain balanced growth theory. Examine its relevance to India’s economic 

development.  14 

             OR 
 Explain : 

 (a) Concept of Unbalanced Growth. 

 (b) Process of Economic expansion according to Arthur Lewis. 

 
4. Give the meaning of industrialisation. What is the rationale of industrialisation in 

developing countries ? 14 

                 OR 
 Explain : 

 (a) Contribution of Agriculture in economic development. 

 (b) Reasons for low productivity in Agriculture. 

 
5. Choose the right answer and write only a, b, c or d only : 14 

  (1) The term economic growth refers to the problem of  

   (a) Developed countries (b) Democratic countries 

   (c) Underdeveloped countries (d) Socialist countries 

 (2) The economist who stressed the role of Entrepreneur in development was 

   (a) Hirchman (b) Rosenstein Rodan 

   (c) Schumpeter (d) Nurkse 
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 (3) The best indicator of economic development is  

   (a) Rising savings (b) Rising investment 

   (c) Rising capital-output ratio (d) Rising levels of living 

 (4) The problem facing the human capital formation are  

   (a) Population explosion (b) Brain drain 

   (c) Lack of manpower planning (d) All of these 

 (5) Ricardo’s book on “Principle’s on Political Economy’ & ‘Taxation’ was first 

published in  

  (a) 1717 (b) 1917 (c) 1817 (d) 1921 

 (6) The economist who stressed the role of innovations in economic development was 

   (a) Hirchman (b) Nurkse 

   (c) Rosenstein Rodan (d) Schumpeter 

 (7) The balanced growth theory sees the primary cause of underdevelopment as the  

   (a) Small size of the market (b) Lack of savings 

   (c) Low level of technology (d) Foreign domination 

 (8) To break the vicious circle on the demand side of capital, Nurkse has pleaded for  

   (a) Balance growth (b) Unbalanced growth 

   (c) Agricultural growth (d) Industrial growth 

 (9) Rapid industrialization with particular emphasis on the development of basic and 

heavy industries was one of the objective of 

   (a) First Five Year Plan  (b) Second Five Year Plan 

   (c) Third Five Year Plan (d) Fourth Five Year Plan 

 (10) The classical model of economic development considers  

   (a) Profit as an incentive to development 

   (b) Tendency of profits to decline with larger capital accumulation 

   (c) Both (a) and (b) 

   (d) None of the above 

 (11) Balanced growth has been advocated by 

   (a) Rosenstein Rodan, Ragner Nurkse and Arthur Lewis 

   (b) Rosenstein Rodan, Ragner Nurkse and Hirchman 

   (c) Rosenstein Rodan, Ragner Nurkse and Rostow 

   (d) Rosenstein Rodan, Ragner Nurkse and Singer  

 (12) Big Push theory lays emphasis on 

   (a) Big Investment Sector (b) Agricultural sector 

   (c) Technical sector (d) None of these 

 (13) Unbalanced growth theory focuses on 

   (a) All sectors  

   (b) Key sectors 

   (c) All sectors including key sectors 

   (d) None of these 

 (14) The significance of agriculture arises from the following facts : 

   (a) Sources of food supply 

   (b) Sources of foreign exchange earnings 

   (c) Supply of industrial raw materials 

   (d) All of them 

___________ 


